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IEUERSEES

S 64 3H 31H HUE

—fRAEEVEN AR ARZZEER

(A7 : )
B H — & = i & = 3 A B & #
I EPEDH
1 pREhE PE
BlaTH4 0 1,819,920 1,819,920
AAE H 0 0
HRAA A 6,011,209 6,011,209
TENE PEG R 0 7,831,129 7,831,129
2 [HEEE
(1) HARME
0
AR PER G 0 0 0
(3) ZOfthE T &
Z DML [E E G PEGF 0 0 0
i & PEA R 0 0 0
& E & &t 0 7,831,129 7,831,129
o A
1 JnEalE
IS A& 0 0
Al 4 0 0
mEREAE 0 0 0
2 [HEAE
i E A 0 0 0
A E A G 0 0 0
I Al PEDE
1 IEBREPE 0 54,303,667 54,303,667
2 FIESHIs4 0 A 46,472,538 A 46,472,538
IEBRM PE G R 0 7,831,129 7,831,129
AfE R ERMPESF 0 7,831,129 7,831,129




TE AR PE B Rl R 0

H4F 54E4H1H

—fRAEEEN A H A2 EE R

EAF 64E3H31LH

(A M)
F H — & = 3 N s = F & i & B
I HEANE IR oD
1. S8IA 7,326,000 7,326,000
2. REA (R L) 19,054,000 19,054,000
3. REWA LR v2=7) 3,466,000 3,466,000
4 0 0
5 0 0
6. = HUFILE 11 11
7,326,011 22,520,000 29,846,011
198D IR DB
1. FEH

TG 1,007,113 1,007,113
DR (HRRE) 23,168,042 23,168,042
SRR R V2= 4,155,592 4,155,592
RERE 0 0
2. B 0
FABLA R 0
3. BN O BB 70,000 70,000
4. WIS FH~DHRNER 0
5. fEANE 0
a 7t 1,007,113 27,393,634 28,400,747
4] 1 R U R HE A 6,318,898 A 4,873,634 1,445,264
R B A A U PE 47,984,769 A 41,598,904 6,385,865
IR IE MM PE & 5148 54,303,667 A 46,472,538 7,831,129




